PT-1 SYLLABUS (2024-25)

MODERN SCHOOL

CLASS VII
Subject Syllabus Marking Scheme
ENGLISH Reading-1 unseen passage-8
13/5/24 Marks
Writing-L.A -5 marks
Grammar- 2MCQ based
Reading - Unseen passage 3+2 =5 Marks
Literature - Chapter 1 8and Literature : 1 Rtc = 3Marks
Poem: Coromandel Fishers 2SA = 2*2= 4 marks
Grammar — Determiners 1 LA =5 marks
Writing- Factual description Total:30
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MATHEMATICS

Ch-1 Integers

3questions- 3marks

8/7/24 Ch-3 Rational numbers 3questions- 2 marks
MAT: 1 question- 4 marks
Visual and Numerical MCQ:
reasoning Squestions- 1 mark each
MAT:
4questions- 1 mark each
ACTIVITY:
2 marks
Total- 30
SCIENCE CH-1 Nutrition in Plants 7 MCQ + 3 A/R (1 mark each)
18/7/24 CH-3 Chemical Changes 2 VSQ (2 marks each)

2 SAQ (3 marks each)

1 LAQ (5 marks)

1 CASE BASE (5 marks)
Total 30




SOCIAL SCIENCE
15/7/24

Ch 1 ( Places of Eminence-
Invesigate and construct
History )

Ch 2 Loaclity - Then and Now

Mcq - 1x10=10

Key Terms - 1x3=3

Short Questions - 2x2=4

Long Questions - 3x2=6

Case Study - 1x3=3

Picture Based Questions -
1x4=4 (Barter System
pgl8, Ashoka's
Inscription and

Jataka Tales pgl10)
FRENCH Lesson 1- Comment ¢a va? Counting 0-100 (5 marks)
6/5/24 Lesson 2- Je m’appelle Map of France ( 5 marks)
Vocabulary (5marks)
Book excercises (15 marks )
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COMPUTER Chapter 1 Big data Fill in the blanks - 4
2/5/24 True/ False. -4
MCQ. -4
Q. Ans. -8
Total 20
GK Page no- 9 to 20 + Current Answer the following 1x5=5
9/5/24 Affairs from Fill in the blanks 0.5x2=2
Tick the correct 0.5x2=2
Match Them 0.5x2=2
Name Them 0.5x2=2
T/F 0.5x2=2
Current Affairs 1x5=5




